Answer Key Vector Word Problems.

1.   
2. 
3. 
4. D,E,B,C,A
5. 
6. 
7. a)   b) 13.93 sec   c) 50.12 m
8. 
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The figure shows coordinate axes. Each region bounded by the
axes is called a quadrant. The quadrants are labeled I-IV. Think
of a vector whose initial point is the origin and whose terminal
point ends somewhere within the indicated quadrant. Tell
whether the sine, cosine, and tangent ratios for this vector

will be positive or negative.

1. Quadrant | 2. Quadrant I
sine positive sine
cosine cosine
tangent positive tangent

3. Quadrant Il 4. Quadrant IV
sine negative sine
cosine negative cosine

tangent positive tangent

180" 0" (360°)

positive
negative
negative

negative
positive
negative
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For each given trigonometric ratio in Exercises 5-10, use a calculator and
what you learned above to find both possible measures of £ A. Round to the

nearest degree. Measure angles from the positive x-axis in a counterclockwise
direction. (Hint: If your calculator gives a negative answer, add 360° to find the

equivalent positive angle measure.)
5.sinA-2 6.tanA= 1.4 7. c0sA =~y
24°; 156° 126°; 306° 123°; 237°
8.sinA= -3 9. tanA =09 10. cosA = 0.33
229° 311° 42°; 222° 71°; 289°

11. Aferryboat carries passengers and cars across a river that runs from north to south.
The river is 0.6 mile wide. The downstream dock is on the east side of the river and
0.15 mile south of the west side’s upstream dock. The current in the river runs due
south at 2.5 miles/hour. Find the speed and direction the ferryboat must take to
make the crossing from the upstream dock to the downstream dock in 10 minutes.

3.9 mi/h; 24° or N 66° E

12. Find the speed and direction the ferryboat must take to make the crossing
from the downstream dock to the upstream dock in 10 minutes.

5.0 mi/h; 137° or N 47° W





